RPN L4t R EE AR - RER L
RIbE 2 bR EE 28 et 4
114-&;}*—%@:‘” E:’/ﬁ;’n—ﬁ A@T"Q\%}Aﬁj{ﬁé;ﬁ%{

4 @ oH i?/f A AT G AR TR

¥ ouizEde

R I e e

7fi B foﬂﬁf‘gﬁtﬁﬂliﬁ Pt

YRERF 2 s

Wi R OF R T IR

O)F 34T > F%Eﬂ?‘ﬂ— ATAESA B R EREA D Bk S ) ot AGRILL (FE Y 0 3T A
EAPFBP LPEHILA N Y A F O o
— o\l

Ji

N _'S'_jﬁf—?'jﬁgg,{ﬂi“]ﬁ“!?ﬁz‘

S EFET BT B Z A WA

e 3L i £ (information bias) 7 333 7 7 5 B 47 3 3 L i £ enfdag

2 kiR °(25/n\)

X3t - BE AP NESS RS &b‘.?‘:f}%%&ﬁﬁ
Bl T2 o SRESZ B IR R Ac @ 3K J-ll-bﬁzl‘;i‘ ? TG H B A faé]ﬁ:;ﬁ-%’ﬁ“i[ﬂ

$M i (254)

B PREL ~ HBR AR T 0 A

LRz eRE %g‘ﬂ—nf?’fﬁ«?ﬁfﬁf&’ BRI T AESE
) S :d A=l R £
FofYEfme) 94 7.2 20

B R 96 7.1 1.8
¥R 90 6.3 13

%R Bl A 4

REKEH | E2fe | AR | 2 | Fi | PE
il (a) 2 (c) () | 0.001
& 858.85 (b) (d)

@, fr 905.12 279

W BB b e WK T 0@ 05% i R AR S0 AR
Z BN RA BRI HIER > THE R EA A (a)~(b)‘(C)‘
(d)~(e)z#ciE o ¥ 33 = e R THELT L R HEF A

POTHRPAFTATTREFEB R ET?7HBEF LES 005-(25 4)



g5 : 13830
F = 12-2

BoREECREEE AR SRTRG N R R0 FIRG L R bl E R

FERY O e B 195 FRMET R B R LS 192 LB HBE 0 SR FR
195 ¢ W THpmHLY 065 L3 A b riﬂ, 1192 LB HBER %
He 24 24 Fh ). Lw/:;‘, B w7 R A b SR TROR L
@p%#@%w%?&@¥kﬁpowozﬁf;ﬁHWﬁ bt Sengd
B O5% G dE %A - (254 )

( Z0.995=2.58 ; Z0975=1.96 ; Zp95=1.645 ; x21,0,99:5.02 ; x21,0,975:5.02 ;
%°10.95=3.84)



